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Run 5838 triggerwise, sums: All

.

Endries: 210560

Mzan: 15498.1950 % 31,4573

Sbd Dwrw: 144393435 + 222507

0 71 T o0 Ty Ly
0 10000 20000 30000 40000 50000
sUm
Run 5838 triggerwise, sums: Beam ON, Laser ON
—— Helicity==0
— Helicity==1
Enitries: 0

Mean: 00000 +- 0,000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

50000

40000

30000

20000

10000

Run 5838 triggerwise, sums: Beam OFF
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Entriza: 210560

Mlzan: 154981950 &% 31,4573

Std Dew: 144393435 4/ 22 2507
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— Run 5838 triggerwise, sums: Beam ON, Laser OFF
— — Helicity==0
= — Helicity==1
:_ Entries: 0
E Mean: 000000 /- 0.0000
:_ Sibd Dz 0U0000 - 00000




